












































































































HA

00.3014.000

Thread:- 24X1

00.3016.000

Thread:- 24X1.5

HAND PRIMERS

00.3015.000

Thread:- 24X1.5

52







00.4 245.000 00.4 246.000 00.4 248.000
Bush Cap RSV STD Bush Cap RSV/1st o/s Sealing Cap

00.4 270.000 00.4 271.000 00.4 272.000

Accelator Lever DI Accelator Lever Leylend Accelator Lever  2511

00.4 273.000 00.4 235.000 00.4 236.000

Accelator Lever Small P3 Element Lower Spring Plate Element Upper Spring Plate

00.4 250.000 00.4 251.000 00.4 252.000

Accelator Shaft Bush Accelator Shaft Bush Accelator Shaft Bush

00.4250 BR (Bronze) 00.4251 BR (Bronze) 00.4252 BR (Bronze)

00.4250 AS (Alloy Steel) 00.4251 AS (Alloy Steel) 00.4252 AS (Alloy Stee l)

00.4 240.000

55

Control Rod Bush Roller Type

86.00 88.00

24.5035.0030.60



00.4525.000

236.50 mm

Products

Part No.

00.4510.000

Type

A

Length

101

00.4511.000 B 118

00.4512.000 B 118

00.4513.000 B 110

00.4514.000 B 110

Bosch/Zexel TYPE

Volt

12V

Roll

12V

12V 12V

12V 12V

12V 12V

24V 24V

24V 24V

CAVTYPE

Volt Rol

12V

24V

12V

12V

24V

12V

12V 12V

12V 12V

gth Keys Special Features

Straight 1 466 100 405

Misaligned

Straight

Straight Deep Hole in Back

ll Mark

V 015

Repl. No.

0 330 001 015 Bosch

Rajnish

00.4312

V 018 0 330 001 018 Bosch 00.4312.

V 720 146650-720 Zexel 00.4312

V 122 146650-122 Zexel 00.4312.

V 016 0 330 001 016 Bosch 00.4324.

V 510 0 96010-0510 ND 00.4324.

CAM SHAFT

ROMANIA (UTB)

Reference No.  1 416 1

Total Length  236.50 m

oll Mark Repl. No.

2V 049 9 009-049 (MS Male Terminal) Cav

4V 049 7180-049 (MS Male Terminal) Cav

2V 620D 7167-620D

12V 620A 7167-620A

12V 520A ND 096030-0520

56

i h Part Nos.

312.015

2.018

312. 720

2.122

4.016

4.510

6 124 311

0 mm

Rajnish Part Nos.

00.4312.049

00.4324.049

00.4312.620

00.4312.621

00.4312.0520























GOVERNOR PARTS DIAPHRAGMS

00.5025.000 (Membrane) 00.5026.000 (Membrane)

GOVERNOR PARTS SWIVELLING LEVERS
00.5101.044 00.5102.039

Swivelling Lever Right Long Swivelling Lever Left Long

Reference Org. Nos. :   1 422 013 044 Reference Org. Nos. :   1 422 013 039

00.5103.036 00.5104.118

Swivelling Lever Both Side Equal Swivelling Lever Both Side Equal

Reference Org. Nos. :  1 422 013 036 Reference Org. Nos. :   1 422 013 118

67

Diaphragm For 00.1143.000

00.1148.000

Diaphragm For 00.1141.000



GOVERNO

00.5 201.000 (5201)

GO

00.5 250.028 (5250)

00.5 301.019

00.5 302.021

00.5 305.000

AIR BREATHER 

Reference Part N

Mico : 1 427 432

BEARING ASSE

Reference Part N

Mico :  1 420 322

FLY Weigh

Reference P

Weight  : 8

FLY Weigh

Reference P

Weight  : 73

NOR PARTS & AIR BREA

00.5 202.010 (5202)

GOVERNOR PARTS MI

01.7 030.024

00.5 304.000

00.5 303.000

00.5 306.000

68

ER (Small)

rt Nos.

32 000

SEMBLY (RSV)

rt No

322 028

ight  Assembly Big

e Part Nos.: 1 428 194 019

: 880- 900 gm

Centre Bolt

Reference Part Nos. : 2 423 100 0

ight  Assembly Small

e Part Nos.: 1 428 194 021

 735- 740 gm

REATHERS

ISC

01.7 031.000

0

AIR BREATHER (Big)

Reference  Part Nos.

Mico : 1 427 432 010

FLY Weight  Assembly

Big with keyway

0 024

Governor Pin with Lock

FLY Weight  Assembly

3610/2522

Fly Weight Assembly

Small with keyway



GOVERNOR PARTS

00.5 220.000 00.5 225.000

Gov. Weight Pin RSV Gov. Fork Pin RSV

• lo I,

00.5 228.00 00.5 230.000

Gov. Square Pin Big Gov. Square Pin Small

00.5 251.000

Square 3610

69

L 62.00

9.00 Dia

L 48.00

8.00 Dia

ID      OD      Thickness

8   x    16  x     5







00.5 355.000

RSV GovernorLeft

00.5361.302

Dir.:  Left

Ref. Part No. : F 002 A21 302

00.5 356.000 00.5

RSV GovernorRight

00.5361.305 0

Dir.: Right D

Ref. Part No. : F 002 A21 305 R

72

.5357.000

RSV Governor Both

00.5 362.000

Dir.:  Both Side Open

Ref.Part No



00.5 364.000

(Both Side Close)

Ref. Part Nos. : 1 425 621 001

00.5 366.000

With Hole Thread Size M 22 X 1.5

With Drain Bush,  Thread Size M 10 X

00.5 365.

 1.5

With Hole Thread S

Governor Housing I

Ref. Part No. : 1 425

RSV

00.5370.0

 M 10 X 1

73

Governor Housin

5.000

ead Size M 22 X 1.5

g Inner

425 121 056

0.000

sing Inner













































Nozzle Pressure Spindle Nozzle Pressure Spindle

00.8810.000 Massey 00.8815.000 (C-335)

00.8811.000  Petter 00.8816.000 (Ford)

00.8812.000 Lister 00.8817.000 (E-37)

00.8818.000 (H-50)

00.8819.000 (3511)

00.8820.000 (2511)

00.8821.000 (2011)

00.8350.000 00.8255.000
Non Return Valve DPC Out Valve 0.55

00.8275.000

Out Valve   0.75

95

















Application : Romania Application : Romania Application : ISUZU Application : Mitsubishi

OD: 25 MM

Length : 35 MM

Thread : M22 X 1.5

OD:21.40MM

Length: 43.50 MM

Thread : M 19 X 1.25

OD: 16.SOMM

Length : 31.20 MM

Thread : M 15 X 0.50

OD : 2 I .40MM Length : 35.SOMM

Internal Thread : M 16 X I

Externatl Thread : M20 X 1.5

00. 7850.000
Nozzle Cap Petter

Swaraj 855

00.7851.000 00. 7852.000
Nozzle Cap Lister, P3 Massey Nozzle Cap Inter DI

00.7853.000
Nozzle Cap Ford, Swaraj FE

OD: 24.50 MM OD: 24.50 MM OD: 20.75 MM OD: 2l.25MM

Length : 42.00 MM Length : 25.00 MM Length: 47.50 MM Length : 50 MM

Thread : M20 X 1.50 Thread : M20 X 1.50 Thread : M 19 X 0.75 Thread : 3/4 x 16 TPI

00.7854.000
Nozzle Cap Cargo

00.7855.000
Nozzle Cap T.C.

00.7856.000
Nozzle Cap Kirloskar

00.7857.000

OD: 21.00 MM OD: 16.90 MM AF: 16.80 ID: MM OD: 24.50 MM

Length: 46.20 MM

Thread: Ml9 X 0.75

Length : 31.20 MM

Thread : M 15 X 0.50

Length : 30. 70 M

Thread : M22 X

Length : 54 MM

Thread : M22 X 1.5

00.7858.000 00.7859.000 00.7865.000 00.7881.000

00.7882.000
(Old No.00.8041.00)

Application :

,
Mitsubishi

00.7898.000 00.7899.000
Automiser Connection Automiser Connection

00.7897.000
Automiser Connection

A+B

-.... /

Ref. Part No. :
093164-1351

B+B

AF=l4MM

LENGTH=46MM

B+B

AF=l4MM
LE GTH=37MM

AF=l4MM
LE GTH=37MM

OD: 21.SOMM, Length : 35.SOMM
Internal Thread: Ml6 X 0.75
External Thread : M20 X 1 . 5

Automiser Connection

102

00.7894.000 Minidor

00.7895.000 Tempo

00.7896.000 APE











DIESEL FILTER COVERS & ASSEMBLIES
00.9 558.000

Mere. : 9 451 035 558

Mere. : 000 477 3708

Inlet - Right

Micro~Pre

Application

Diesel Filter Cover

Leyland, Mere. OM 346

00.9 028.000

Size : 1.00 L

Reference Part Nos.

Bosch : 0 450 226 028

Mere. : 0014774801

Inlet - Right

Micro~Pre

Application

Diesel Filter Assembly

Leyland, Mere. OM 346

00.9300.000

•

00.9250.000
Filter Cover - Volvo 81 94 541

00.9251.000

Application : Diesel Filtercover
Scania 112/ 113
Reforg.No.0357196.525356

107



















01.8 001.000

01.8 010.001 Open Nut Bosch Type

Reference Org Nos. 2 443 355 00

01.8 011.009 Close Nut

Reference ORG Nos.  2 443 462 00

01.8 013.000 Nut For 4 Valve Feed Pump

01.8 017.000

01.8 020.010 01.8 025.000 01.8 030.0

Tappet  Nut Cam Nut

01.8 031.000

01.8 033.000

01.8 037.000

Glaasy Nut

Reference Org. No. 2 453 345

OD ID Hex/AF

M16x1.5 M14x1.5 19

OD ID Hex/A

M16x1.5 7 19

OD

Thread

ID Collar

Hex/ AF

M22x1.5 M14x1.5 27

Hex

A/F

Hex

Length

Bore

ID

Sm

Bo

24 4 17.80 11.

Hex

A/F

Hex

Length

Top

ID

Hol

ID

26 6.30 20 10

Hex

A/F

Hex

Length

Top

ID

Hole

ID

26 8 20 10

Closing Plug
M 16x1.5

01.8 009.000 Open Nut Long Type

01.8 010.100 Open Nut Zexel Ty

001

01.8 012.014 Dog Nut

 009 Reference ORG Nos . 2

p 01.8 014.000 Nut For 4 Valve Feed Pump

01.8 018.000 Nut With O Ring  2 x 2.5

0.000

01.8 0

01.8

115

OD ID

M16x1.5 M14x1.5
345 000

F Holes

3

OD ID

M16x1.5 M14x1.5

/AF OD ID

M26x1.5 20

F
OD

Thread

ID Hex Collar

Round

M22x1.5 10 25

OD

Thread

ID

24x1.5 M14x1.5

Hex

A/F

Hex

Length

Bore

ID

Small

Bore

Step

Dia

Step

Length

Threa

24 4 17.80 11.0 22 4.2 16x1.

Small

Bore

Step

Dia

Step

Length

Thread T.

Length

11.0 22 4.2 16x1.5x12 20.2

Hole

ID

Hole

Length

Thread T.

Length

0 11.50 16x1.5x7 16.50

e Thread T.

Length

16x1.5x7 18

Reference ORG Nos . 2 443 461 003

For Feed Pump 00.190

01.8 5

ype

Type

 . 2 443 462 014

01.8 016.000

8 035.0000

.8 570.000

A/F

Hex

Hole Length

1.5 19 4 32.75

Hex/AF Holes

.5 24 4

Hex./AF

30

read T.

Length

Oil

Seal

OD

Oil

Seal

ID

Oi

Se

He

1.5x12 20.2 18.2 10.6 5

M 10X1.5

UNF 3/8’’X24

Adopter For
00.9010.100

00.9011.100

OD : 10.4mm

ID        : 6.3mm

Length : 6mm

901.000 & 00.1063.400

Closing Plug

M 14x1.5

8 555.000

01.8 019.000

Length 25

Hole Dia  1.6

Hex 22 A/F

Thread M18x1.5












































































